266 Numericka rjeSenja zadataka
6.54 Fy=—22kN, Fy; =-3,6kN, Fy,, =62kN, M. =-324kN-m,
My =-20,16kN-m, (M,) =-7.2 kN~rn,(MD)D =—16,2 kN-m,
(M), =-7,2 kN-m, (M, ), =—-6,48 kN-m,
(M), =(M,), +(M,),=~13,68 kN-m, M, =M;=M;=0.
6.55 Fay=25kN, F,, =3832kN, F, =5,168kN, N, =-4,57kN, 0, =-0,25kN,
n =1,723m, My (x,)=-3,05kN-m, (M) =-0,5kN-m, (M) =-5kNm,
Mc=-55kN-m, Mp=-75kN-m, M, =My=0.
6.56 Fag =3kN,Fyy =-3kN, M, =1,4kN-m,
(My), =18 kKN-m, (M), =18 kN-m, (M) =(M,) +(My),=3,6 kN-m,
(M), =-0,4kN-m, (M) =3,6 kN-m.
1 3 3 5 2
6.57 Fau=4l, Fay =5ql,FB =5ql, Xm =12, Mb(xm)=—§ql s M =-2q1",
My =—ql?, (M), =—2q, (M) =g, (M,). =—qP
B — zqs D)L — 2‘1: Dd_q’ D)p~ 2q
6.58 Fj=qa=6kN, Fgy =qa=6kN, Fgy =0, (M.) =9 kN-m, (M) =-18 kN-m,
(M), =(M), +(M.),==9kN-m, Mp=-9kN-m, M, = My =My =0.
6.59 F, =4,6kN, Fyy =-3,25kN, Fyy =4,75kN,
Xy =1,625m, My(x,,) =-1036kN-m, M¢ =-13kN-m, My =-12,25kN-m.
(M), =13,75 kN-m, (M, ) =-17,75 kN-m,
(M), =(My), +(M,), =—F-2=-4kN-m, (My), =4875kN-m,
(M), =(My), +# =8,875kN-m.
1 2 L 2 3 2
6.60 Fpy=Fyy=qa, My :Eqa » M¢ :Eqa > (MB)L :Eqa ,
1
(My), =(My), —M:—Eqa , My =qa®, Mg =0.
3 7 1 1,
6.61  Fay =—Fpy = Fcy =794 Fav =794 Fgy = Fey =794 M, =/I4=Eqa )
2
qa 3 5 3 5
Xn=al4, My (x,,)=—, M, =M-=0, My=——qga”, M =—qa".
b (*m) 35 Ma=Mc D=4 E=74
6.62  Foy =45kN, Fyy =4kN, Fpy = Foyy = —6,5kN, Fyy = Foy =4kN,

(M,) =4 kN-m, (M) =(M,) +#=7kN-m, M, =11kN-m,
My =65kN-m, My =My =0,Mc=0, x, =a, M,(x,)=2kN-m .



